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iR T * oy
A B i e i * =y 168, 604, 000
B & = X {ird =+ = 99, 696, 000
C & 2 T *x 1 = 17, 096, 000
T *x il ¥ 285, 396, 000
H % izl 28, 539, 600
& &t 313, 935, 600
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AR M &R W L %
1 E P T I 2 1 =X 135, 597, 290
bl i 3 B3 # 1 =X 4,962, 861
#ill T = by 140, 560, 151
3 H % w beic # 1 X 10, 668, 515
T I Ji it 151, 228, 666
4 - ® BF B B’ % X 17, 375, 334
T I it & 168, 604, 000
= at 168, 604, 000
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B & < & M L =
1 E P T I 2 1 =X 75, 018, 470
bl i 3 B3 # 1 =X 4, 141, 020
#ill T = by 79, 159, 490
Bl % w beic # 1 X 9, 396, 231
T I Ji it 88, 555, 721
- & B A B % X 11, 140, 279
I it & 99, 696, 000
= at 99, 696, 000
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c & % & W L =
1 E P T I 2 1 =X 10, 732, 820
bl i 3 B3 # 1 =X 1,374, 874
#ill T = by 12,107, 694
Bl w beic # 1 X 2, 662, 482
T I Ji it 14, 770, 176
- & B A B % X 2, 325, 824
it & 17, 096, 000
= at 17, 096, 000
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2E St A I L 1 = 90, 020, 500
K= 1 = 30, 031, 040
FHEERLAR T8 1 = 7,269, 070
R i T 1 =X 3, 856, 480
H AT 1 X 4, 345, 000
WETHE 1 =X 60, 300
SRS 1 =X 14, 900

/I i 135, 597, 290
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2) R - 2SI B 1 =X 19, 979, 100
3)  HAKBLHRER 1 =X 11, 003, 380
4) AR ATV 1 =X 230, 830
5) FEHHIFEER AN UAE, HUT 7 BAAR 1 =X 27, 665, 300
. 75, 018, 470
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